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1. (15%)
HEANTRELHAGLE - A - EHF - BT K -

Please describe the name, DOF, motion type, and contact type of joints

~ A8

0 WEW % C [

2. (10%)
B/ AAEEAm RBAGEA D HOETFIMMA -
m symbol the independent input, and » symbol the DOF of mechanism. Please answer
following question.
(1M 4 m=n » $LiHE B #>

If m=n, the mechanism belong to
(2) {40 n>m » JEAAHEE A
If n>m, the mechanism belong to
(3) fR+4e n<l » WM NHBE
If n<1, the mechanism is called
(4) 1840 n=0 - B AEE
If n=0, the mechanism is called
(5) 1840 n<0 > Juiiay#4 5

If n<0, the mechanism is called

3. (5%)
EAAETRRET A G AEGEHmT K HiEaE)

Please define the DOF of the space mechanism (show the detail of calculation process)

P e LR Bi, Bz, Bs: revolute joint
. ’ I, Ja, 13, Py, Py, P3: universal joint

Universal joint




4. (10%)

FeMm—AHASL | X PomEARE L P —BREmATTY -

Please synthesize a four-link mechanism with 1-DOF planar motion, and one joint is
sliding joint.

5. (20%)
WEAMBZ (DR E: QESd Q)AwA
Please define the (1) mechanism skeleton, (2) kinematic chain; (3) DOF of this mechanism.

3f

Section A=A

6. (15%)
Wit — R AT RAERF RSB ERL B4R O s O
Design a four-bar mechanism 1o given the three position using the fixed pivots 03 and O..




7. (25%)
St b SR R 23 RASHA 02 R 0lm - Bt A B A 0, 5 60 & - 3
SHOGRAT 3 A Oy FEAR 4 1A xy

For the 4-link mechanism, fengths of link 2 and link 3 are 0.2 and 0.1m. If input angular
position B is 60 deg, please find the angular position of link 3 (65) and displacement of link

4 (x4)

()3 A & 8k £ M 48 Applying Vector loop method find the closed-form solution.
(2) A Ak RF AR AEERMES 0,265 x,=0.15m * i#iT—REREPT -
Applying Newton's method find the Numerical solution. Initial estimates are 8;=65°,
x=0.15m. Show one {ime the calculation.
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